
Date: 02-14-18              V1.0 PNEG-2214

Instructions

1004 East Illinois Street • Assumption, IL 62510 • 1-217-226-4421

PNEG-2214

Printed in the U.S.A.
Copyright © 2018 by The GSI Group, LLC
www.gsiag.com

Page 1 of 1

CN-333981

BFT Hopper Collar Hardware Sheet

Attaching the Collar to the Hopper Panel

1. Install the top of the collar (1) to the hopper panels (2) using 5/16'' x 1'' truss head bolts (3) and 
flange nuts (4).

NOTE: Use 5/16" x 1" truss head bolts (3) at the top of the collar (1).

Ref # Part # Description

1 Collar

2 Hopper Panels

3 S-10633 5/16''-18 x 1'' Truss Head Bolt

4 S-3611 5/16'' Flange Nut


	BFT Hopper Collar Hardware Sheet

